ACROSS

1. 75 +3
2. 360 +~ 3
6. 54 =3
7. 972 = 3
9. 642 = 3
12. 366 +~ 3
14. 78 = 3

Divide by 3 Crossword
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702 = 3
450 = 3
42 = 3
492 = 3
981 = 3
990 + 3
618 +~ 3
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609 -
846 -
144 -
162 -
426 -
648 -
10. 342 -
11. 375 -
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822 +
753 =+
909
429 +
510 =
189 +
66 ~ 3
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ACROSS
1. 75 +3
2. 360 ~ 3
6. 54 + 3
7. 972 =3
9. 642 + 3
12. 366 = 3
14. 78 = 3
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702 = 3
450 = 3
42 = 3
492 = 3
981 = 3
990 + 3
618 +~ 3

DOWN
I. 609 = 3
3. 846 = 3
4. 144 = 3
5. 162 + 3
6. 426 + 3
8. 648 + 3
10. 342 + 3
1. 375 =3
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822 + 3
753 = 3
909 = 3
429 = 3
510 = 3
189 + 3
66 +~ 3



